THE (G'/G)-EXPANSION METHOD FOR SOLVING THE COMBINED AND THE DOUBLE COMBINED SINH-COSH-GORDON EQUATIONS

H. Kheiri, A. Jabbari

ABSTRACT. In this paper, the (G'/G)-expansion method is applied to seek traveling wave solutions of the combined and the double combined sinh-cosh-Gordon equations. This traveling wave solutions are expressed by the hyperbolic functions and the trigonometric functions. It is shown that the proposed method is direct, effective and more general.

2000 Mathematics Subject Classification: 35K01; 35J05.

1. Introduction

The sinh-Gordon equation,

$$u_{tt} - u_{xx} + \sinh u = 0, (1)$$

gained its importance because of the kink and antikink solutions with the collisional behaviors of solitons that arise from this equation. The equation appears in integrable quantum field theory, kink dynamics, and fluid dynamics [1-8].

Many powerful methods, such as Bäcklund transformation, inverse scattering method, Hirota bilinear forms, pseudo spectral method, the tanh method, the tanh-sech method, the sine-cosine method [9-12], and many others were successfully used to nonlinear equations. Recently, Wang et al. [15] proposed the (G'/G)-expansion method and showed that it is powerful for finding analytic solutions of PDEs. Next, Bekir [16] applied the method to some nonlinear evolution equations gaining traveling wave solutions. More recently, Zhang et al. [17] proposed a generalized $(\frac{G'}{G})$ -expansion method to improve and extend Wang et al.'s work [15] for solving variable coefficient equations and high dimensional equations. Also Zhang [17] solved the equations with the balance numbers of which are not positive integers, by this method. In this paper we will apply the (G'/G)-expansion method to the combined sinh-cosh-Gordon and double combined sinh-cosh-Gordon equations.

2.Description of the (G'/G)-expansion method

We suppose that the given nonlinear partial differential equation for u(x,t) to be in the form

$$P(u, u_x, u_t, u_{xx}, u_{xt}, u_{tt}, \dots) = 0,$$
(2)

where P is a polynomial in its arguments. The essence of the (G'/G)-expansion method can be presented in the following steps:

step 1. Seek traveling wave solutions of Eq. (2) by taking $u(x,t) = U(\xi)$, $\xi = x - ct$, and transform Eq. (2) to the ordinary differential equation

$$Q(U, U', U'', \dots) = 0, (3)$$

where prime denotes the derivative with respect to ξ .

step 2. If possible, integrate Eq. (3) term by term one or more times. This yields constant(s) of integration. For simplicity, the integration constant(s) can be set to zero.

step 3. Introduce the solution $U(\xi)$ of Eq. (3) in the finite series form

$$U(\xi) = \sum_{i=0}^{N} a_i (\frac{G'(\xi)}{G(\xi)})^i,$$
(4)

where a_i are real constants with $a_N \neq 0$ to be determined, N is a positive integer to be determined. The function $G(\xi)$ is the solution of the auxiliary linear ordinary differential equation

$$G''(\xi) + \lambda G'(\xi) + \mu G(\xi) = 0,$$
 (5)

where λ and μ are real constants to be determined.

step 4. Determine N. This, usually, can be accomplished by balancing the linear term(s) of highest order with the highest order nonlinear term(s) in Eq. (3).

step 5. Substituting (4) together with (5) into Eq. (3) yields an algebraic equation involving powers of (G'/G). Equating the coefficients of each power of (G'/G) to zero gives a system of algebraic equations for a_i , λ , μ and c. Then, we solve the system with the aid of a computer algebra system, such as Maple, to determine these constants. On the other hand, depending on the sign of the discrimmant $\Delta = \lambda^2 - 4\mu$, the solutions of Eq. (5) are well known to us. So, as a final step, we can obtain exact solutions of the given Eq. (2).

3. The combined sinh-cosh-Gordon equation

We first solve the combined sinh-cosh-Gordon equation

$$u_{tt} - ku_{xx} + \alpha \sinh u + \beta \cosh u = 0, \tag{6}$$

where α and β are nonzero real constants. Making the transformation $u(x,t) = u(\xi)$, $\xi = x - ct$ and integrating once with respect to ξ , Eq. (6) we get

$$(c^2 - k)u'' + \alpha \sinh u + \beta \cosh u = 0. \tag{7}$$

By applying the Painlevé transformation,

$$v = e^u, (8)$$

or equivalently

$$u = \ln v. \tag{9}$$

we have

$$\sinh u = \frac{v - v^{-1}}{2}, \quad \cosh u = \frac{v + v^{-1}}{2}.$$
 (10)

Then

$$u = \operatorname{arccosh}\left[\frac{v + v^{-1}}{2}\right]. \tag{11}$$

Consequently, we can write the combined sinh-cosh-Gordon equation (7) to the ODE

$$(\alpha + \beta)v^3 - (\alpha - \beta)v + 2(c^2 - k)vv'' - 2(c^2 - k)(v')^2 = 0.$$
 (12)

Balancing the v^3 with vv'' gives

$$M = 2. (13)$$

The (G'/G)-expansion method allows us to use the finite expansion

$$v(\xi) = a_0 + a_1(\frac{G'}{G}) + a_2(\frac{G'}{G})^2, \quad a_2 \neq 0.$$
 (14)

Substituting (14) into (12), setting coefficients of $(\frac{G'}{G})^i (i = 0, 1, ..., 6)$ to zero, we obtain the following under-determined system of algebraic equations for a_0 , a_1 , a_2 , c, λ and μ :

$$(\frac{G'}{G})^0 : \alpha a_0^3 + \beta a_0^3 + 4c^2 a_0 a_2 \mu^2 - 4k a_0 a_2 \mu^2 - \alpha a_0 + \beta a_0 + 2c^2 a_0 a_1 \lambda \mu$$

$$-2k a_0 a_1 \lambda \mu - 2c^2 a_1^2 \mu^2 + 2k a_1^2 \mu^2 = 0,$$

$$(\frac{G'}{G})^1 : -\alpha a_1 + \beta a_1 + 3\alpha a_1 a_0^2 + 3\beta a_1 a_0^2 + 2c^2 a_0 a_1 \lambda^2 + 4c^2 a_0 a_1 \mu$$

$$+12c^2 a_0 a_2 \lambda \mu - 2c^2 a_1^2 \lambda \mu - 4c^2 a_1 a_2 \mu^2 - 2k a_0 a_1 \lambda^2 - 4k a_0 a_1 \mu$$

$$-12k a_0 a_2 \lambda \mu + 2k a_1^2 \lambda \mu + 4k a_1 a_2 \mu^2 = 0,$$

$$(\frac{G'}{G})^2 : -\alpha a_2 + \beta a_2 + 3\alpha a_2 a_0^2 + 3\alpha a_1^2 a_0 + 3\beta a_2 a_0^2 + 3\beta a_1^2 a_0 + 6c^2 a_0 a_1 \lambda \mu$$

$$+8c^{2}a_{0}a_{2}\lambda^{2} + 16c^{2}a_{0}a_{2}\mu - 2c^{2}a_{1}a_{2}\lambda\mu - 4c^{2}a_{2}^{2}\mu^{2} - 6ka_{0}a_{1}\lambda$$

$$-8ka_{0}a_{2}\lambda^{2} - 16ka_{0}a_{2}\mu + 2ka_{1}a_{2}\lambda\mu + 4ka_{2}^{2}\mu^{2} = 0,$$

$$(\frac{G'}{G})^{3} : \alpha a_{1}^{3} + \beta a_{1}^{3} + 6\alpha a_{1}a_{2}a_{0} + 6\beta a_{1}a_{2}a_{0} + 4c^{2}a_{0}a_{1} + 20c^{2}a_{0}a_{2}\lambda$$

$$+2c^{2}a_{1}^{2}\lambda + 2c^{2}a_{1}a_{2}\lambda^{2} + 4c^{2}a_{1}a_{2}\mu - 4c^{2}a_{2}^{2}\lambda\mu - 4ka_{0}a_{1}$$

$$-20ka_{0}a_{2}\lambda - 2ka_{1}^{2}\lambda - 2ka_{1}a_{2}\lambda^{2} - 4ka_{1}a_{2}\mu + 4ka_{2}^{2}\lambda\mu = 0,$$

$$(\frac{G'}{G})^{4} : 2c^{2}a_{1}^{2} - 2ka_{1}^{2} + 3\alpha a_{2}^{2}a_{0} + 3\alpha a_{1}^{2}a_{2} + 3\beta a_{2}^{2}a_{0} + 3\beta a_{1}^{2}a_{2}$$

$$+12c^{2}a_{0}a_{2} + 10c^{2}a_{1}a_{2}\lambda - 12ka_{0}a_{2} - 10ka_{1}a_{2}\lambda = 0,$$

$$(\frac{G'}{G})^{5} : 3\alpha a_{1}a_{2}^{2} + 3\beta a_{1}a_{2}^{2} + 8c^{2}a_{1}a_{2} + 4c^{2}a_{2}^{2}\lambda - 8ka_{1}a_{2} - 4ka_{2}^{2}\lambda = 0,$$

$$(\frac{G'}{G})^{6} : \alpha a_{2}^{3} + \beta a_{2}^{3} + 4c^{2}a_{2}^{2} - 4ka_{2}^{2} = 0.$$

Solving this system by Maple, gives

•
$$a_0 = \pm \sqrt{\frac{\alpha - \beta}{\alpha + \beta}} \frac{\lambda^2}{\lambda^2 - 4\mu}, \quad a_1 = \pm \sqrt{\frac{\alpha - \beta}{\alpha + \beta}} \frac{4\lambda}{\lambda^2 - 4\mu}, \quad a_2 = \pm \sqrt{\frac{\alpha - \beta}{\alpha + \beta}} \frac{4}{\lambda^2 - 4\mu},$$

$$c = \pm \sqrt{k \mp \frac{\sqrt{\alpha^2 - \beta^2}}{\lambda^2 - 4\mu}}, \quad \alpha > \beta, \quad c^2 > k,$$
(15)

where λ and μ are arbitrary constants. Substituting Eq. (15) into Eq. (14) yields

$$v(\xi) = \pm \sqrt{\frac{\alpha - \beta}{\alpha + \beta}} \frac{\lambda^2}{\lambda^2 - 4\mu} \pm \sqrt{\frac{\alpha - \beta}{\alpha + \beta}} \frac{4\lambda}{\lambda^2 - 4\mu} (\frac{G'}{G}) \pm \sqrt{\frac{\alpha - \beta}{\alpha + \beta}} \frac{4}{\lambda^2 - 4\mu} (\frac{G'}{G})^2 (16)$$

where
$$\xi = x - (\pm \sqrt{k \mp \frac{\sqrt{\alpha^2 - \beta^2}}{\lambda^2 - 4\mu}})t$$
.

Substituting general solutions of Eq. (5) into Eq. (16), we have two types of traveling wave solutions of the combined sinh-cosh-Gordon equation as follows: When $\lambda^2 - 4\mu > 0$,

$$v_1(\xi) = \pm \sqrt{\frac{\alpha - \beta}{\alpha + \beta}} \left(\frac{c_1 \sinh \frac{1}{2} \sqrt{\lambda^2 - 4\mu} \xi + c_2 \cosh \frac{1}{2} \sqrt{\lambda^2 - 4\mu} \xi}{c_1 \cosh \frac{1}{2} \sqrt{\lambda^2 - 4\mu} \xi + c_2 \sinh \frac{1}{2} \sqrt{\lambda^2 - 4\mu} \xi} \right)^2, \quad (17)$$

from (11), we therefore obtain the solutions

$$u_{1}(\xi) = \operatorname{arccosh}(\frac{1}{2}\{\pm\sqrt{\frac{\alpha-\beta}{\alpha+\beta}}(\frac{c_{1}\sinh\frac{1}{2}\sqrt{\lambda^{2}-4\mu}\xi+c_{2}\cosh\frac{1}{2}\sqrt{\lambda^{2}-4\mu}\xi}{c_{1}\cosh\frac{1}{2}\sqrt{\lambda^{2}-4\mu}\xi+c_{2}\sinh\frac{1}{2}\sqrt{\lambda^{2}-4\mu}\xi})^{2}$$

$$\pm\sqrt{\frac{\alpha+\beta}{\alpha-\beta}}\left(\frac{c_1\sinh\frac{1}{2}\sqrt{\lambda^2-4\mu}\xi+c_2\cosh\frac{1}{2}\sqrt{\lambda^2-4\mu}\xi}{c_1\cosh\frac{1}{2}\sqrt{\lambda^2-4\mu}\xi+c_2\sinh\frac{1}{2}\sqrt{\lambda^2-4\mu}\xi}\right)^{-2}\}\right),$$
(18)

where $\xi = x - (\pm \sqrt{k \mp \frac{\sqrt{\alpha^2 - \beta^2}}{\lambda^2 - 4\mu}})t$. When $\lambda^2 - 4\mu < 0$,

$$v_2(\xi) = \mp \sqrt{\frac{\alpha - \beta}{\alpha + \beta}} \left(\frac{-c_1 \sin \frac{1}{2} \sqrt{4\mu - \lambda^2} \xi + c_2 \cos \frac{1}{2} \sqrt{4\mu - \lambda^2} \xi}{c_1 \cos \frac{1}{2} \sqrt{4\mu - \lambda^2} \xi + c_2 \sin \frac{1}{2} \sqrt{4\mu - \lambda^2} \xi} \right)^2, \quad (19)$$

from (11), we therefore obtain the solutions

$$u_{2}(\xi) = \operatorname{arccosh}\left(\frac{1}{2}\left\{\mp\sqrt{\frac{\alpha-\beta}{\alpha+\beta}}\left(\frac{-c_{1}\sin\frac{1}{2}\sqrt{4\mu-\lambda^{2}}\xi+c_{2}\cos\frac{1}{2}\sqrt{4\mu-\lambda^{2}}\xi}{c_{1}\cos\frac{1}{2}\sqrt{4\mu-\lambda^{2}}\xi+c_{2}\sin\frac{1}{2}\sqrt{4\mu-\lambda^{2}}\xi}\right)^{2}\right\}$$

$$\mp\sqrt{\frac{\alpha+\beta}{\alpha-\beta}}\left(\frac{-c_{1}\sin\frac{1}{2}\sqrt{4\mu-\lambda^{2}}\xi+c_{2}\cos\frac{1}{2}\sqrt{4\mu-\lambda^{2}}\xi}{c_{1}\cos\frac{1}{2}\sqrt{4\mu-\lambda^{2}}\xi+c_{2}\sin\frac{1}{2}\sqrt{4\mu-\lambda^{2}}\xi}\right)^{-2}\right),$$
(20)

where $\xi = x - (\pm \sqrt{k \mp \frac{\sqrt{\alpha^2 - \beta^2}}{\lambda^2 - 4\mu}})t$.

In solutions (18) and (20), c_1 and c_2 are left as free parameters.

In particular, if $c_1 \neq 0$ and $c_2 = 0$, then u_1 becomes

$$u_1(\xi) = \operatorname{arccosh}(\pm \frac{1}{2} \sqrt{\frac{\alpha - \beta}{\alpha + \beta}} \tanh^2 \left[\frac{\sqrt[4]{\alpha^2 - \beta^2}}{2\sqrt{c^2 - k}} (x - ct) \right]$$

$$\pm \frac{1}{2} \sqrt{\frac{\alpha + \beta}{\alpha - \beta}} \coth^2 \left[\frac{\sqrt[4]{\alpha^2 - \beta^2}}{2\sqrt{c^2 - k}} (x - ct) \right], \tag{21}$$

if $c_2 \neq 0$ and $c_1 = 0$,

$$u_1(\xi) = \operatorname{arccosh}(\pm \frac{1}{2} \sqrt{\frac{\alpha - \beta}{\alpha + \beta}} \coth^2 \left[\frac{\sqrt[4]{\alpha^2 - \beta^2}}{2\sqrt{c^2 - k}} (x - ct) \right]$$

$$\pm \frac{1}{2} \sqrt{\frac{\alpha + \beta}{\alpha - \beta}} \tanh^2 \left[\frac{\sqrt[4]{\alpha^2 - \beta^2}}{2\sqrt{c^2 - k}} (x - ct) \right], \tag{22}$$

where $\alpha > \beta$ and $c^2 > k$, which are the solitary solutions of the combined sinh-cosh-Gordon equation.

If $c_1 \neq 0$, $c_2 = 0$, then u_2 becomes

$$u_2(\xi) = \operatorname{arccosh}(\pm \frac{1}{2} \sqrt{\frac{\alpha - \beta}{\alpha + \beta}} \tan^2 \left[\frac{\sqrt[4]{\alpha^2 - \beta^2}}{2\sqrt{k - c^2}} (x - ct) \right]$$
$$\mp \frac{1}{2} \sqrt{\frac{\alpha + \beta}{\alpha - \beta}} \cot^2 \left[\frac{\sqrt[4]{\alpha^2 - \beta^2}}{2\sqrt{k - c^2}} (x - ct) \right], \tag{23}$$

if $c_2 \neq 0$, $c_1 = 0$,

$$u_2(\xi) = \operatorname{arccosh}(\mp \frac{1}{2} \sqrt{\frac{\alpha - \beta}{\alpha + \beta}} \cot^2 \left[\frac{\sqrt[4]{\alpha^2 - \beta^2}}{2\sqrt{k - c^2}}(x - ct)\right]$$

$$\mp \frac{1}{2} \sqrt{\frac{\alpha + \beta}{\alpha - \beta}} \tan^2 \left[\frac{\sqrt[4]{\alpha^2 - \beta^2}}{2\sqrt{k - c^2}}(x - ct)\right],$$
(24)

where $\alpha > \beta$ and $k > c^2$, which are the periodic solutions of the combined sinh-cosh-Gordon equation.

The solutions (21)-(24) are same Eq. (28)- Eq. (31) in [18] respectively. Therefore the solutions in [18] are only a special case of the our solutions.

4. The double combined sinh-cosh-Gordon equation

In this section we consider the double combined sinh-cosh-Gordon equation

$$u_{tt} - ku_{xx} + \alpha \sinh u + \alpha \cosh u + \beta \sinh(2u) + \beta \cosh(2u) = 0, \tag{25}$$

where α and β are nonzero real constants. Making the transformation $u(x,t) = u(\xi)$, $\xi = x - ct$ and integrating once with respect to ξ , we get

$$(c^2 - k)u'' + \alpha \sinh u + \alpha \cosh u + \beta \sinh(2u) + \beta \cosh(2u) = 0. \tag{26}$$

Using the transformation

$$v = e^u, (27)$$

or equivalently

$$u = \ln v. \tag{28}$$

We have

$$\sinh(u) = \frac{v - v^{-1}}{2}, \quad \sinh(2u) = \frac{v^2 - v^{-2}}{2},$$

$$\cosh(u) = \frac{v + v^{-1}}{2}, \quad \cosh(2u) = \frac{v^2 + v^{-2}}{2}.$$
 (29)

Then

$$u = \operatorname{arccosh}\left[\frac{v + v^{-1}}{2}\right]. \tag{30}$$

Consequently, we can write the double combined \sinh -cosh-Gordon (26) in ODE form

$$2\beta v^4 + 2\alpha v^3 + 2(c^2 - k)vv'' - 2(c^2 - k)(v')^2 = 0.$$
(31)

Balancing the v^4 with vv'' gives

$$M = 1. (32)$$

Proceeding as before, we use the finite expansion

$$v(\xi) = a_0 + a_1(\frac{G'}{G}), \quad a_1 \neq 0.$$
 (33)

Substituting (33) into (31), setting coefficients of $(\frac{G'}{G})^i (i=0,1,...,4)$ to zero, we obtain the following under-determined system of algebraic equations for a_0 , a_1 , c, λ and μ :

$$\begin{split} &(\frac{G'}{G})^0 \quad : \quad 2\beta a_0{}^4 + 2\alpha a_0{}^3 + 2c^2 a_0 a_1 \lambda \mu - 2c^2 a_1{}^2 \mu^2 + 2k a_1{}^2 \mu^2 - 2k a_0 a_1 \lambda \mu = 0, \\ & \quad + 2k a_1{}^2 \mu^2 = 0, \\ & (\frac{G'}{G})^1 \quad : \quad 8\beta a_1 a_0{}^3 + 6\alpha a_1 a_0{}^2 + 2c^2 a_0 a_1 \lambda^2 + 4c^2 a_0 a_1 \mu - 2c^2 a_1{}^2 \lambda \mu - 2k a_0 a_1 \lambda^2 \\ & \quad - 4k a_0 a_1 \mu + 2k a_1{}^2 \lambda \mu = 0, \\ & (\frac{G'}{G})^2 \quad : \quad 12\beta a_1{}^2 a_0{}^2 + 6\alpha a_1{}^2 a_0 + 6c^2 a_0 a_1 \lambda - 6k a_0 a_1 \lambda = 0, \\ & (\frac{G'}{G})^3 \quad : \quad 2\alpha a_1{}^3 + 8\beta a_1{}^3 a_0 + 4c^2 a_0 a_1 + 2c^2 a_1{}^2 \lambda - 4k a_0 a_1 - 2k a_1{}^2 \lambda = 0, \\ & (\frac{G'}{G})^4 \quad : \quad 2\beta a_1{}^4 + 2c^2 a_1{}^2 - 2k a_1{}^2 = 0. \end{split}$$

Solving this system by Maple, gives

•
$$a_0 = -\frac{\alpha}{2\beta} (1 \mp \frac{\lambda}{\sqrt{\lambda^2 - 4\mu}}), \quad a_1 = \pm \frac{\alpha}{\beta \sqrt{\lambda^2 - 4\mu}}, \quad c = \pm \sqrt{k - \frac{\alpha^2}{\beta(\lambda^2 - 4\mu)}},$$

 $k > c^2, \quad \beta > 0,$ (34)

where λ and μ are arbitrary constants. Substituting Eq. (34) into Eq. (33) yields

$$v(\xi) = -\frac{\alpha}{2\beta} \left(1 \mp \frac{\lambda}{\sqrt{\lambda^2 - 4\mu}}\right) \pm \frac{\alpha}{\beta\sqrt{\lambda^2 - 4\mu}} \left(\frac{G'}{G}\right), \tag{35}$$

where
$$\xi = x - (\pm \sqrt{k - \frac{\alpha^2}{\beta(\lambda^2 - 4\mu)}})t$$
.

Substituting general solutions of Eq. (5) into Eq. (35), we have two types of traveling wave solutions of the double combined sinh-cosh-Gordon equation as follows: When $\lambda^2 - 4\mu > 0$,

$$v_1(\xi) = -\frac{\alpha}{2\beta} \left(1 \mp \frac{c_1 \sinh \frac{1}{2} \sqrt{\lambda^2 - 4\mu} \xi + c_2 \cosh \frac{1}{2} \sqrt{\lambda^2 - 4\mu} \xi}{c_1 \cosh \frac{1}{2} \sqrt{\lambda^2 - 4\mu} \xi + c_2 \sinh \frac{1}{2} \sqrt{\lambda^2 - 4\mu} \xi}\right), \quad (36)$$

from (30), we therefore obtain the solutions

$$u_{1}(\xi) = \operatorname{arccosh}\left(\frac{1}{2}\left\{-\frac{\alpha}{2\beta}\left(1 \mp \frac{c_{1} \sinh \frac{1}{2}\sqrt{\lambda^{2} - 4\mu}\xi + c_{2} \cosh \frac{1}{2}\sqrt{\lambda^{2} - 4\mu}\xi}{c_{1} \cosh \frac{1}{2}\sqrt{\lambda^{2} - 4\mu}\xi + c_{2} \sinh \frac{1}{2}\sqrt{\lambda^{2} - 4\mu}\xi}\right)\right.$$
$$\left. -\frac{2\beta}{\alpha}\left(1 \mp \frac{c_{1} \sinh \frac{1}{2}\sqrt{\lambda^{2} - 4\mu}\xi + c_{2} \cosh \frac{1}{2}\sqrt{\lambda^{2} - 4\mu}\xi}{c_{1} \cosh \frac{1}{2}\sqrt{\lambda^{2} - 4\mu}\xi + c_{2} \sinh \frac{1}{2}\sqrt{\lambda^{2} - 4\mu}\xi}\right)^{-1}\right\}\right),$$
(37)

where $\xi = x - (\pm \sqrt{k - \frac{\alpha^2}{\beta(\lambda^2 - 4\mu)}})t$. When $\lambda^2 - 4\mu < 0$,

$$v_2(\xi) = -\frac{\alpha}{2\beta} \left(1 \pm i \frac{-c_1 \sin\frac{1}{2}\sqrt{4\mu - \lambda^2}\xi + c_2 \cos\frac{1}{2}\sqrt{4\mu - \lambda^2}\xi}{c_1 \cos\frac{1}{2}\sqrt{4\mu - \lambda^2}\xi + c_2 \sin\frac{1}{2}\sqrt{4\mu - \lambda^2}\xi}\right), \quad (38)$$

from (30), we therefore obtain the solutions

$$u_{2}(\xi) = \operatorname{arccosh}\left(\frac{1}{2}\left\{-\frac{\alpha}{2\beta}\left(1 \pm i \frac{-c_{1} \sin \frac{1}{2} \sqrt{4\mu - \lambda^{2}} \xi + c_{2} \cos \frac{1}{2} \sqrt{4\mu - \lambda^{2}} \xi}{c_{1} \cos \frac{1}{2} \sqrt{4\mu - \lambda^{2}} \xi + c_{2} \sin \frac{1}{2} \sqrt{4\mu - \lambda^{2}} \xi}\right) - \frac{2\beta}{\alpha}\left(1 \pm i \frac{-c_{1} \sin \frac{1}{2} \sqrt{4\mu - \lambda^{2}} \xi + c_{2} \cos \frac{1}{2} \sqrt{4\mu - \lambda^{2}} \xi}{c_{1} \cos \frac{1}{2} \sqrt{4\mu - \lambda^{2}} \xi + c_{2} \sin \frac{1}{2} \sqrt{4\mu - \lambda^{2}} \xi}\right)^{-1}\right\}\right),$$
(39)

where $\xi = x - (\pm \sqrt{k - \frac{\alpha^2}{\beta(\lambda^2 - 4\mu)}})t$.

In solutions (37) and (39), c_1 and c_2 are left as free parameters. In particular, if $c_1 \neq 0$ and $c_2 = 0$, then u_1 becomes

$$u_1(\xi) = \operatorname{arccosh}\left\{\frac{1}{2}\left(-\frac{\alpha}{2\beta}\left(1 \mp \tanh\left[\frac{\alpha}{2\sqrt{\beta(k-c^2)}}(x-ct)\right]\right)\right) - \frac{2\beta}{\alpha(1 \mp \tanh\left[\frac{\alpha}{2\sqrt{\beta(k-c^2)}}(x-ct)\right])}\right\},\tag{40}$$

if $c_2 \neq 0$, $c_1 = 0$,

$$u_1(\xi) = \operatorname{arccosh}\left\{\frac{1}{2}\left(-\frac{\alpha}{2\beta}\left(1 \mp \coth\left[\frac{\alpha}{2\sqrt{\beta(k-c^2)}}(x-ct)\right]\right)\right) - \frac{2\beta}{\alpha(1 \mp \coth\left[\frac{\alpha}{2\sqrt{\beta(k-c^2)}}(x-ct)\right])}\right\},\tag{41}$$

where $k > c^2$ and $\beta > 0$, which are the solitary solutions of the double combined sinh-cosh-Gordon equation.

The solution (40) and (41) are same Eq. (45) and Eq. (46) in [18] respectively. Therefore the solutions in [18] are only a special case of the our solutions.

5. Conclusions

In this paper, the $\binom{G'}{G}$ -expansion method is used to conduct an analytic study on the combined sinh-cosh-Gordon and the double combined sinh-cosh-Gordon equations. The exact traveling wave solutions obtained in this study are more general, and it is not difficult to arrive at some known analytic solutions for certain choices of the parameters c_1 and c_2 . Comparing the proposed method with the methods used in [18], show that the $\binom{G'}{G}$ -expansion method is not only simple and straightforward, but also avoids tedious calculations.

References

- [1] Sirendaoreji, S. Jiong, A direct method for solving sinh-Gordon type equation, Phys. Lett. A 298 (2002) 133-139.
- [2] Z. Fu, S. Liu, S. Liu, Exact solutions to double and triple sinh-Gordon equations, Z. Naturforsch. 59a (2004) 933-937.
- [3] J.K. Perring, T.H. Skyrme, A model unified field equation, Nucl. Phys. 31 (1962) 550-555.

- [4] G.B. Whitham, Linear and Nonlinear Waves, Wiley-Interscience, New York, NY, 1999.
- [5] E. Infeld, G. Rowlands, *Nonlinear Waves*, Solitons and Chaos, Cambridge University Press, Cambridge, England, 2000.
- [6] A. Polyanin, V.F. Zaitsev, *Handbook of Nonlinear Partial Differential Equations*, CRC, Boca Raton, FL, 2004.
- [7] M.J. Ablowitz, B.M. Herbst, C. Schober, On the numerical solution of the sinh-Gordon equation, J. Comput. Phys. 126 (1996) 299-314.
- [8] G.W. Wei, Discrete singular convolution for the sinh-Gordon equation, Physica D 137 (2000) 247-259.
- [9] W. Malfliet, Solitary wave solutions of nonlinear wave equations, Am. J. Phys. 60 (7) (1992) 650-654.
- [10] W. Malfliet, The tanh method: I. Exact solutions of nonlinear evolution and wave equations, Phys. Scr. 54 (1996) 563-568.
- [11] W. Malfliet, The tanh method: II. Perturbation technique for conservative systems, Phys. Scr. 54 (1996) 569-575.
- [12] A.M. Wazwaz, The tanh method: exact solutions of the sine-Gordon and the Sinh-Gordon equations, Appl. Math. Comput. 167 (2005) 1196-1210.
- [13] A.M. Wazwaz, The tanh method for travelling wave solutions of nonlinear equations, Appl. Math. Comput. 154 (3) (2004) 713-723.
- [14] A.M. Wazwaz, Partial Differential Equations: Methods and Applications, Balkema Publishers, The Netherlands, 2002.
- [15] M. Wang, X. Li, J. Zhang, The (G'/G)-expansion method and traveling wave solutions of nonlinear evolution equations in mathematical physics, Phys. Lett. A. 372 (2008) 417-423.
- [16] A. Bekir, Application of the (G'/G)-expansion method for nonlinear evolution equations, Phys. Lett. A. 372 (2008) 3400-3406.
- [17] J. Zhang, X. Wei, Y. Lu, A generalized (G'/G)-expansion method and its applications, Phys. Lett. A. 372 (2008) 3653-3658.
- [18] A.M. Wazwaz, The variable separated ODE and the tanh methods for solving the combined and the double combined sinh-cosh-Gordon equations, Appl. Math. Comput. 177 (2006) 745-754.

Hossein Kheiri and Azizeh Jabbari Faculty of mathematical sciences University of Tabriz

Tabriz, Iran

email: h-kheiri@tabrizu.ac, kheirihossein@yahoo.com